
l;=g= ljj/)f ah]^ s}lkmot

1 s'n ah]^ 873,389,393.00     

rfn' vr{ tkm{ 113,847,000.00     s"n jh]^sf] 23=50 k|ltzt

k'hLFut vr{ tkm{ 759,542,393.00      s"n jh]^sf] 76=50 k|ltzt

k"FhLut vr{ tkm{sf] jfF*kmfF*

2 ;dk'/s sf]if 50,000,000.00      k"FhLut vr{tkm{sf] 13=48 k|ltzt

3 qmdfut of]hgfsf] e'QmfgL 40,000,000.00      k"FhLut vr{tkm{sf] 10=78 k|ltzt

4 11 j^f j*fsf] k"FhLut jfF*kmfF* 55,000,000.00      k"FhLut vr{tkm{sf] 14=83 k|ltzt

jfFsL k"FhLut jh]^ jfF*kmfF* ljj/)f

1 ;fdflhs ljsf; ;ldlt 63,410,000.00      k"FhLut vr{tkm{sf] 17=10 k|ltzt

2 cfly{s ljsf; 49,330,000.00      k"FhLut vr{tkm{sf] 13=30 k|ltzt

3 ef}lts k"jf{wf/ 87,500,000.00      k"FhLut vr{tkm{sf] 23=60 k|ltzt

4 jg ljkb tyf jftfj/)f 16,600,000.00      k"FhLut vr{tkm{sf] 4=47 k|ltzt

5 ;'zf;g tyf Ifdtf ljsf; 8,902,393.00       k"FhLut vr{tkm{sf] 2=40 k|ltzt

6 ;+l#o z;t{ cg'bfg 377,200,000.00     rfn'

7 k|b]z z;t{ cg'bfg 1,600,000.00       rfn'

8 k|b]z ;dk'/s 10,000,000.00      kF'hLut

hDdf ah]^ 873,389,393.00     

j/fxIf]q gu/kflnsf

rqm#^\^L, ;'g;/L

cfly{s jif{ 2077÷078 sf nflu :jLs[t ah]^ 


